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Swp Max
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Swp Min
4GHz

SCIR2()



1 2

SUBCKT
ID=S3
NET="input stage_1"

1 2

SUBCKT
ID=S4
NET="output stage_2"

1 2

SUBCKT
ID=S7
NET="interstage"

1 2

SUBCKT
ID=S5
NET="NE3503M04v2_2_18_2_20"

1 2

SUBCKT
ID=S6
NET="NE3503M04v2_2_18_2_20"

PORT
P=1
Z=50 Ohm

PORT
P=2
Z=50 Ohm



MLIN
ID=TL11
W=W11 mil
L=L12 mil
MSUB=R04003

MLIN
ID=TL12
W=45 mil
L=L11 mil
MSUB=R04003

IND
ID=L1
L=0.2 nH

MLIN
ID=TL13
W=15 mil
L=Lgate mil
MSUB=R04003

MRSTUB2W
ID=TL14
W=30 mil
Ro=190 mil
Theta=45 Deg
MSUB=R04003

12

3

MTEE
ID=TL15
W1=W11 mil
W2=45 mil
W3=30 mil
MSUB=R04003

MSTEP
ID=TL6
W1=20 mil
W2=W11 mil

1 2

SUBCKT
ID=S2
NET="0805 res"
R=R11

1 2

SUBCKT
ID=S4
NET="0805 cap"
C=Cgate

1 2

SUBCKT
ID=S1
NET="0805 cap"
C=C11

PORT
P=1
Z=50 Ohm

PORT
P=2
Z=50 Ohm

L12=210

Lgate=190

L11=50
C11=0.33

Cgate=27
R11=22

INPUT

W11=100



MLIN
ID=TL1
W=15 mil
L=Ldrain mil
MSUB=R04003

MLIN
ID=TL4
W=W31 mil
L=L31 mil
MSUB=R04003

MRSTUB2W
ID=TL2
W=30 mil
Ro=185 mil
Theta=45 Deg
MSUB=R04003

MLIN
ID=TL11
W=W32 mil
L=L33 mil
MSUB=R04003

MLIN
ID=TL12
W=40 mil
L=L32 mil
MSUB=R04003

MLIN
ID=TL13
W=15 mil
L=Lgate mil
MSUB=R04003

MRSTUB2W
ID=TL14
W=30 mil
Ro=190 mil
Theta=45 Deg
MSUB=R04003

12

3

MTEE
ID=TL15
W1=W32 mil
W2=45 mil
W3=30 mil
MSUB=R04003

IND
ID=L2
L=0.2 nH

IND
ID=L1
L=0.2 nH

MSTEP
ID=TL6
W1=W31 mil
W2=45 mil

12

3

MTEE
ID=TL3
W1=45 mil
W2=45 mil
W3=30 mil
MSUB=R04003

MSTEP
ID=TL5
W1=20 mil
W2=W31 mil

MSTEP
ID=TL7
W1=20 mil
W2=W32 mil

1 2

SUBCKT
ID=S2
NET="0805 cap"
C=C31

1 2

SUBCKT
ID=S3
NET="0805 res"
R=R32

1 2

SUBCKT
ID=S6
NET="0805 cap"
C=Cdrain

1 2

SUBCKT
ID=S4
NET="0805 res"
R=R33

1 2

SUBCKT
ID=S5
NET="0805 cap"
C=Cgate

1 2

SUBCKT
ID=S7
NET="0805 res"
R=R31

1 2

SUBCKT
ID=S1
NET="0805 res"
R=700

1 2

SUBCKT
ID=S8
NET="0805 cap"
C=5

PORT
P=1
Z=50 Ohm

PORT
P=2
Z=50 Ohm

L31=329

Ldrain=185
Cdrain=27
R31=2
R32=10

L33=200

Lgate=190

L32=360

W32=120

C31=0.33

Cgate=27
R33=22

INTERSTAGE

W31=40
L31=356



IND
ID=L2
L=0.2 nH

MLIN
ID=TL1
W=15 mil
L=Ldrain mil
MSUB=R04003

MLIN
ID=TL4
W=W22 mil
L=L23 mil
MSUB=R04003

MRSTUB2W
ID=TL2
W=30 mil
Ro=185 mil
Theta=45 Deg
MSUB=R04003

12

3

MTEE
ID=TL3
W1=45 mil
W2=45 mil
W3=30 mil
MSUB=R04003

MLIN
ID=TL5
W=W23 mil
L=L24 mil
MSUB=R04003

MSTEP
ID=TL6
W1=W22 mil
W2=45 mil

MSTEP
ID=TL7
W1=W23 mil
W2=45 mil

MSTEP
ID=TL8
W1=W23 mil
W2=45 mil

MLIN
ID=TL9
W=45 mil
L=50 mil
MSUB=R04003

MSTEP
ID=TL10
W1=20 mil
W2=W22 mil

1 2

SUBCKT
ID=S1
NET="0805 cap"
C=C22

1 2

SUBCKT
ID=S3
NET="0805 res"
R=R23

1 2

SUBCKT
ID=S6
NET="0805 cap"
C=Cdrain

1 2

SUBCKT
ID=S7
NET="0805 res"
R=R22

PORT
P=1
Z=50 Ohm

PORT
P=2
Z=50 Ohm

L23=271

Ldrain=185

W22=40

Cdrain=27

R22=5
R23=10

C22=18

ADDED LINE
TO IMPROVE
OUTPUT MATCH

OUTPUT
W23=20
L24=100

L23=255


